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Spring 2013-14
(27" March, 2014)
CIE200 — STATICS
CLOSED BOOK, 75 MINUTES

Name: D Sectipnp: 11

NOTES

4 problems (13 pages).

All your answers should be provided on the question sheets.

Some answers may require much less than the space provided.
Do not use the back of the sheets for answers.
Every FBD needed for the solution of & problem should be clearly shown.
Points will be deducted for any missing/ incomplete/incorrect FBD.
Points will be deducted for answers not supported by proper calculations.
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Problem I: 120
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Problem 1T 130
Problem IV 15

TOTAL: /100
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Problem I: (20 points)

1. Determine the magnitude and direction of the resultant force for the system of forces shown
in Figure I. (20 points)

Note: FBD must be included

Calculations and/or Diagrams:
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Problem I1: (35 points)
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Figure [1

The light post is subjected to two forces as shown in Figare I1.

1. Determine the magnitude and direction angles of the resultant force acting at A.
(20 points)

2. Determine the projected component of the force in the cable AB along ling AC. Exptess
the result as a Cartesian vector.(!5 points}

Note: FBD must be included for part 1.

_ Calculations and/or Diagrams:
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Calculations and/or Diagrams (cont’d):
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Problem II1: (30 points)

Figure III

The system weights and cables shown in Figure I is in its equilibrium position.
1. Calculate the force in each cable if the weight of the lamp at F is 20 kN.

Note: FBD mut be included

Calculations and/or Diagrams:
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Calculations and/or Diagrams (cont’d):
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Problem IV: (15 points)
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1.

Three forces Fy, F, and Fj act on the ring. If the resultant force Fg has a magnitude of
126 N and direction angles as shown, determine the magnitude and direction angles of
force Fj.

Calculations and/or Diagrams: E}if}“ﬂ% cach fg%né /o Carfesian veckor
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Calculations and/or Diagrams:

By = 2

L Bces o= e cosoie ~206F g = BX
& ¥R

Car®

B = = Fo
A==t S
73.49 - o o w13 (8P = ifamgﬁx !;:3&; = 7344 kKl

I

oo = <3
o fary

i

= Y85 = YA 0 s ol o Froncde 146,85 kN

P z
- B 5/ iy {2}; . 5 3: !}/ (o) (F3.93) (1w gsl”
Fd
= 7:3 — /AH gﬁ w

~2157  _lJ. a7 3"l
j65.28

c hsod o =215 = Cosi-

hoB o 7349 o cos B - Y9 lpaogacd
/i 24 : '

/4635 Y 5 -Aa% 345
j65 .82

B Cosy = j46.05 (o -

10



